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www.ps.bam.de/YE87/10L/L87EOONP.PS/.PDF; start output

M

N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

Maximum colour R with 0% N,W; linear
relation lab*rgb*3 — lab*nicwd*

1.0 n* =1- = 0,00

blackness = 1 - brilliantness
c*=1-n*-w*=1,00

0,6T chromaticness =1-blackness
oat - whiteness

0,871

w* =1 -d* =0,00

0,27 whiteness = 1 — deepness
0,0
ncu* = 0,00 1,00 r00j; rgh*; = 1,00 0,00 0,00

Maximum colour R with 25% N; linear
relation lab*rgb*3 — lab*nicwd*

1Y n*=1-i =025

blackness = 1 - brilliantness
c*=1-n*-w*=0,75

0,6T chromaticness =1-blackness|
- - whiteness

0,8t

w* =1 -d* =0,00
0,271 whiteness = 1 - deepness

0,0
ncu* = 0,25 0,75 r00j; rgb*3 = 0,75 0,00 0,00

Maximum colour R with 25% W; linear
relation lab*rgb*3 — lab*nicwd*

1.0 n*=1-7 =000
08t blackness = 1 - brilliantness

c*=1-n*-w*=0,75

0,6T chromaticness =1-blackness

- whiteness
0,41

w* =1-d*=0,25
0,21 whiteness = 1 — deepness

0,0
ncu* = 0,00 0,75 r00j; rgb*; = 1,00 0,25 0,25

Maximum colour R with 25% N,W; linear
relation lab*rgb*3 — lab*nicwd*

Ly m=1-1 = 0,25

blackness = 1 - brilliantness
c*=1-n*-w*=0,50

0,8T

0,6T chromaticness =1-blackness

- whiteness
041
w* =1-d* =0,25

0,271 whiteness = 1 - deepness
0,0
ncu* = 0,25 0,50 r00j; rgh*3 = 0,75 0,25 0,25
YE870-7

BAM-test chart YE87; Colour image reproduction

Maximum colour R with 0% N,W; linear
relation lab*rgb*3 — lab*ncutwe*

tce*=0,50 1,00 0,00 t* = 1-n*-0,5¢* = 0,50
ncu* = 0,00 1,00 r00j rgb*3 = 1,00 0,00 0,00

Maximum colour R with 25% N; linear
relation lab*rgb*3 — lab*ncutwe*

tce*=0,37 0,75 0,00 t* = 1-n*-0,5c* = 0,625
ncu* = 0,25 0,75 r00j rgh*3 = 0,75 0,25 0,25

Maximum colour R with 25% W; linear
relation lab*rgb*3 — lab*ncutwe*

C{(
tce*=0,63 0,75 0,00 t* = 1-n*-0,5c* = 0,63
ncu* = 0,00 0,75 r00j rgb*3 = 1,00 0,25 0,25

Maximum colour R with 25% N,W; linear
relation lab*rgb*3 — lab*ncutwe*

c*=0,50 —*>
C

tce*=0,50 0,50 0,00 t* = 1-n*-0,5c* = 0,50
ncu* = 0,25 0,50 r00j rgb*3 = 0,75 0,25 0,25
YE870-8

Maximum colour r25j with 0% N,W; linear
relation lab*rgb*3 — lab*nicwd*

10 n* =1- = 0,00

blackness = 1 - brilliantness
c*=1-n*-w*=1,00

0,6T chromaticness =1-blackness
o4t - whiteness

0,8T

w* =1 -d* = 0,00

0,271 whiteness = 1 — deepness
0,0
ncu* = 0,00 1,00 r25j; rgh*; = 1,00 0,25 0,00

Maximum colour r25j with 25% N; linear
relation lab*rgb*3 — lab*nicwd*

= n*=1-7 =025

blackness = 1 - brilliantness
c*=1-n*-w*=0,75

0,67 chromaticness =1-blackness|
Bt - whiteness

0,8T

w* =1 —d* = 0,00
0,21 whiteness = 1 — deepness

0,0
ncu* = 0,25 0,75 r25j; rgb*; = 0,75 0,19 0,00

Maximum colour r25j with 25% W; linear
relation lab*rgb*3 — lab*nicwd*

1.0 n*=1-7 =000

08t blackness = 1 - brilliantness
c*=1-n*-w*=0,75

0,6T chromaticness =1-blackness
0.4t - whiteness

w* =1 -d*=0,25
0,21 whiteness = 1 — deepness

0,0
ncu* = 0,00 0,75 r25j; rgb*; = 1,00 0,40 0,25

Maximum colour r25j with 25% N,W; linea
relation lab*rgb*3 — lab*nicwd*

1.0 n=1-1 =025

blackness = 1 - brilliantness
c*=1-n*-w* =0,50

0,6T chromaticness =1-blackness
o4t - whiteness

0,8T

w* =1-d* =0,25

0,271 whiteness = 1 — deepness
0,0
ncu* = 0,25 0,50 r25j; rgh*; = 0,75 0,31 0,25
YE871-7

inpgb setrgbcol or

Maximum colour r25j with 0% N,W; linear
relation lab*rgb*3 — lab*ncutwe*

tce*=0,50 1,00 0,063* = 1-n*-0,5¢* = 0,50
ncu* = 0,00 1,00 r25j rgb*; = 1,00 0,25 0,00

Maximum colour r25j with 25% N; linear
relation lab*rgb*3 — lab*ncutwe*

C*
tce*=0,37 0,75 0,063* = 1-n*-0,5c* = 0,37
ncu* = 0,25 0,75 r25j rgh*3 = 0,75 0,19 0,00

Maximum colour r25j with 25% W; linear
relation lab*rgb*3 — lab*ncutwe*

C*
tce*=0,63 0,75 0,063* = 1-n*-0,5c* = 0,63
ncu* = 0,00 0,75 r25j rgb*3 = 1,00 0,40 0,25

Maximum colour r25j with 25% N,W; linear|

relation lab*rgb*3 — lab*ncutwe*

tce*= 0,50 0,50 0,063* = 1-n*-0,5¢* = 0,50
ncu* = 0,25 0,50 r25j rgb*; = 0,75 0,31 0,25

Relative coordinates, user colour attributes, colour notation output: no change compared to in
M Y O L Vv

SW81SAS Jojuow Jo Jajuld Jo uswainseaw Joj uoiealdde f‘
4ad'/Sd'dN003281/10T/.83A-TOTOLOOT :UoHeASIDe) NYE \\>

1=9p0J :Jelsrew N\vd

=<




